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1/2 +1/3 = (a) 2/5 (b) 5/6 (c) 3/6 (d) 3/4 (e) 1/4.

The least common multiple of the positive integers x and y is 120. The greatest common
divisor of the positive integers x and y is 8. Then, xy = (a) 15 (b) 112 (c) 960 (d) 1208
(e) 8120

A and B are sets. 4={1,2,3,4,5} and B={5,6,7}. A-B=C (a) C={5} (b) C={1, 2,3, 4}
(c) C={1,2,3,4,5,6,7} (d) C=(1,2,3,4,6,7} (¢) C={ }.

Let A={x}, B={y} and C={z}. D=(4xB) xC, where x is Cartesian product. (a) xxyxz
O {xy,z} © (.2 @ {&yhz} (©{(x12);]

Let p, g, r are propositions, where p =T, ¢=T and » = F. Which of the following
compound propositions is true? (a) =g (b)p A7 )p—>r rople)lprg)—r

flx) =y is a function, the domain and codomain are the set of integers. We already know that
Ax) is invertible. Which of the following functions could be f{x)? (a) fix) =x+2  (b) flx) = x*

) =2x (d)fx)=x" (e) fx) =x/2.

Function f{x)=2x+1, where the domain and codomain are the set of integers. Which of the
following equations is correct? (a) f2) =4 (b) ADHB3)=9  (©) fAN0)=6 (d) fIA2))=12
(@ f3)=15.

Among 1200 people there are at least x persons who were born in the same day (a) x = 2
byx=3 (©x=4 (Dx=5 () x=0.

How many strings of length ten contain exactly three 1°s? (a) 120 (b) 140 (c) 160
(d) 180 (e) 200

How many solutions does the equation x; +xz+ x3 + x4 =7 have, where x;, X2, x3 and x4 are
nonnegative integers? (a) 100 (b) 110 (c) 120 (d) 140 (e) 160.

What is the probability that a die never comes up an even number when it is rolled four times?
()12 () 1/4 ()18 (d)1/16 (e) 1/32

Give a recurrence 7(n) = 27(n/2) + 1 and 7(1) = 1. Then Tny= (a)©(1) (b)Oogn)
© 06"  (On)  (e)Ohlogn).

Ris a relation from 4 = {0, 1,2,3,4} to B=1{0, 1,2, 3}, where (a,b) € R if and only if
a+ b = 4. Which of the followings is correct? (@) (0,3)e R (b)(1,1)eR (c)(0,4) e R

(d) (4,2) € R (e) (4,0) €R.
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14. A relation R on a set 4 is called symmetric if (b, a)e R whenever (a, b) € R fora, b €4.
Which of the following relations has symmertic property? (a) {(1,2)} (b) {(1,2), 2,1}

(© {(1,2), (2,3)} (d) {(1,2), (2.3), (1.3)} (&) {{1, 1}, (1.2)}

15. The degree of a vertex in an undircted graph is the number of edges incident with it, except
that a loop at a vertex contributeds twice to the degree of the vertex. How many edges are
there in a graph with 12 vertices each of degree 5? (a) 10 (b) 20 (c)30 (d)40 (e)50.

16. A tree with 100 vertices has x edges. () x =99 (b)x=100 (c)x =101 (d) x =102
(e) x=103.

17. Which string is_not recognized by the following automaton? (a) 111 (b) 11 (c)10(d) 0 (e) 1

1 0.1 0.1

0

18. Which of the following graphs has a Euler circuit?

U A Ay
(a) (b) (c) (d) (e)

19. The following expression: 2 mod 7=x) (@x=1 (x=2 (Jx=3 (Dx=4
(e)x=5

20. What is the 20" term in the sequence 1,2,2, 3,3, 3,4, 4,4, 4,......... ?2(@)3 (b4 ()5
(do6 (e)7.



